Customer Model YS150 (Style 4) Y'S 100 seres

: Single-Loop Multi-Function Controller
I\Pllaltnttle_r)atnce Model YS170 (Style 4) '
arts Lis Single-Loop Programmable Controller
i 5 M 1B7C1-01E
6

e

7
ltem Part No. Qty  Description
1 E9760NH 1 Case Assembly
2 E9760RJ 2 Clamp
3 E9760RN 2 Screw
4 E9760QD 1 Terminal Board Cover
5 E9760XA 4 Label (Tag No.)
6 E9760XL 4 Label
7 —_ 1

Main Frame Assembly (see pages 2 and 3)

CAUTION

The Customer Maintenance Parts List (CMPL) is provided as reference for when ordering maintenance parts. Do not disassemble or assemble
products using the CMPL. YOKOGAWA assumes no liability to any party for damages caused through disassembly or assembly.

= §
Customer Maintenance Parts List (CMPL)iE, A4 ¥ 5+ Y A=, — ¥4 2BOBEEHL LTRET A DD TT, TOCMPLIC
LD BERROFE - ML TEITDLRVTLEEY, - BU AT o LREBERI MR- VL 2 BECH L TH, YHEREL
BUHPRITOTITEREEY,

CMPL 1B7C1-04E
YOKOGAWA ’ 1st Edition : Jan. 1997 (YK)

Yokogawa M&C Corporation




Main Frame Assembly

16

[
Y i

CMPL 1B7C1-04E



ltem Part No. Qty  Description
1 E9760CF 1 Display Assembly (see page4)
2 E9760LH 1 Spring
3 E9760LF 4 Link .
4 E9760LK 8 Screw
5 E9760LT 2 Spacer
6 E9760LT 2 Spacer
7 Below 1 Main CPU Card Assembly
E9766BH For Model YS170
E9766BJ For Model YS150
8 Y9306LB 8 B.H.Screw,M3X 6
9 E9766CC 1 Hard Manual and CFL Power Supply
10 Y9308LB 2 B.H.Screw,M3X 8
11 G9311AD 2 Bush
12 E9766CA 1 Connector Card
13 Below 1 Option Card
E9766EB RS-485 Communication Card
(option code:/A31)
E9766EA DCS-LCS Communication Card
(option code:/A32)
E9766EC YS-net Communication Card
(option code:/A33)
14 Y9306LB 1 B.H.Screw,M3X6
15 Below 1 Power Supply Unit
E9766YB For 100V Version
E9766YS For 220V Version
16 Y9306LB 1 B.H.Screw,M3 X6
17 Below 1 Signal Conditioner
EM1 mV Input Card (option code:/A01)
ET5/YS Thermocouple Input Card
{option code:/A02 or /A12)
ER5 Resistance Thermometer Sensor
Input Card(option. code:/A03 or /A13)
ES1 Potentiometer input Card
(option code:/A04)
EH1 Input isolator Card
(option code:/A05)
EA1 Two-wire Transmitter Input Card
(option code:/A06 or /A16)
EA9 Two-wire Transmitter Input Card
(option code:/A07 or /A17)
EP3 Frequency Input Card(option code:/A08)
— A1179MN 1 Ferritic Core(attachment for

Jan. 1997

option code:/A12,/A13,/A16 or /A17)

CMPL 1B7C1-04E



Display Assembly

N

A\
\Y

i\& . /

_/GMMW

A

7

0
d Z
N

& 3
ltem Part No. Qty  Description
1 E9760FX 1 Cover
2 E9760GR 1 Spring
3  Y9304LE 1 B.H.Screw,M3Xx 4
4  E9760GM 1 Fluorescent Tube(CFL)

CMPL 1B7C1-04E

Jan. 1997
Subject to change without notice. Printed in Japan.



